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UTFO7a TS5 LT 1 By FEEEIER Fig = Fop + F, ZOFSELTRITEZ 055
LT®H% (fibonacci.mm)e CNEYLEL T MU RF Y FEI Foy3 = Fryo+ Fopr1 + Fyy, n=
0,1,2,... Z25tH7 %, LUTFOEWZEZ L.

1 N

Func void main()

{ \ff?/
Integer f1, £2,Vfn, n, N=12;

n=0; f1 = 0; oy £3=15 i £3);
printf("fid = %d\n", n, f1); S S %.d __%d\”’,”’ ’
n=l; £3 = 4 / Trm*f( £

printf ("f/%d = %d\n", n, £2);

for(n=07 n<=N ;n++) {
fn = f1 + f2y + 13
printf ("f}d = %d\n", n, fn);

f1 = £2;
£2 = #m £3
y fy=drn
}
main
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Func void main()

{
Integer i, N;
Matrix F, x;

N = 12;
F=fet3pe433e [[0,1,0]00,0,1301,1,1775
x = fo=g= [0,0,117
for(i=0; i<=N ;i++) {
printf("f%d = %3.0f\n", i, x(1));

x = Fx*xx;
¥
&
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bht1 = th— Pn.(an = an+1) y  Pn+l = 2pn
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Func void main() Nt (3'/'7"/5-? 2465 )
{ 2. (3, /47159268 )

Tinteger Lihy N3 B il \L )
Read 00, bo,t0,p0} 4. ( BB i )
Real ai,bi,t1,p1; i i Wt 2ilid )

. 6.
po=1.03 bo=Ifsgr(z.0)s | > ;
to=1/4.0; pe =t.05 5. ( )
for (N=135 N<=toy N++X [ | g \
ai_:(a-Of'b—O)/'Z,(); 10. ( )
bt = sgrt(aox bo); 1. ( )
£1 =to-pok(ao-aipk(ao-a1)s2. ( )
pl= 2%p0O5 13. )
Printﬁ‘(ﬂcozd»—i%f‘;.SF\ﬂﬂ; 14. ( )
N, Lai+bi)#Cai+bi)/4/{;D5 15. ( )
no=at; bo=bti; 1‘;( )
3 to=t1i; po=p1L; 18: E g
main 1 19. ( )
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